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Marconi Model 42 Automobile Radio
Alignment Procedure

(AKA Westinghouse A43 Automobile Radio)

The three R. F. line-up capacitors and two 1. F. tuning
capacitors are accessible and may require adjustments. The
R. F. adjustments are made at 1400 K. C. and the I. F.
adjustments at 175 K. C. The R. F. adjustments can be made
with the receiver in its case, access to the adjusting screws
being obtained through a slot in the bottom of the case. For
the 1. F. adjustments, however, it is necessary to remove the
rear cover in order to couple the oscillator to the first detector.
The following procedure should be used for these adjust-
ments:

R. F. Adjustment

A satisfactory accurate and rapid adjustment of the three
R. F. line-up capacitors can be made by ear, although, for
optimum results, the use of an output meter connected across
the loudspeaker voice coil is recommended. The latter method
however, involves removal of the rear cover to connect the
meter, thus in turn eliminating the shielding effect of the case.
Temporary shielding for the bottom and Radiotron sides of
the chassis and for the transformer therefore must be pro-
vided to prevent vibrator interference.

(a) Procure a modulated oscillator giving a signal at 1400
K. C. and a non-metallic screw driver.

(b) Couple the output of the oscillator from antenna to
ground, set the dial at 140, and the oscillator at 1400 K. C.

(c) Place the oscillator and receiver in operation and
adjust the oscillator output so that a weak signal is obtained
in the loudspeaker when the volume control is at its maxi-
mum position.

(d) Then adjust the three line-up capacitors until maxi-
mum sound in the speaker or maximum deflection of the out-
put meter is obtained. Readjust these capacitors a second
time as there is a slight interlocking of adjustments.

I. F. Adjustments

In order to make the I. F. adjustments, it is necessary to
remove the rear cover, due to the fact that the external
oscillator must be connected between the control grid of the
first detector and ground. Proceed as follows:

(a) Procure a modulated oscillator giving a signal at 175
K. C., a non-metallic screw driver and an output meter.

(b) Remove the receiver from its case, shield the trans-
former and Radiotrens as described under R. F. adjustments,
place the receiver in operation and connect the oscillator out-
put between the first detector grid and ground. Connect the
output meter across the voice coil of the loudspeaker. Then
connect the antenna lead to ground and adjust the tuning
capacitor so that no signal except the 1. F. oscillator is heard
at maximum volume. With the volume control at maximum,
reduce the external oscillator output until a small deflection is
obtained. Unless this is done, the action of the A. V. C. will
make it impossible to obtain correct adjustments.

(c) Each transformer has but one winding that is tuned
by means of an adjustable capacitor, the other windings being
untuned. The capacitors should be adjusted for maximum
output.

At the time I. F. adjustments are made it is good practice
to follow this adjustment with the R. F. adjustments. due to
the interlocking that always occurs. The reverse of this,
however, is not always true.



Marconi Model 42 Automobile
Radio Vibrator Unit Adjustments

VIBRATOR UNIT
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When the switch is turned ‘“on’ the vibrator makes and
breaks contact at point “A.” This constitutes the driving
action of the unit, and is in no way connected with the other
circuits. The primary vibrator functions to connect the input
low voltage current first across one-half and then across the
other half of the primary of the transformer. This results in
a pulsating direct current applied to the primary in an alter-
nating direction. The result is an A. C. voltage emanating
from the secondary of the transformer; as the transformer
has a step-up ratio the A. C. secondary voltage is consider-
ably greater than the primary. The secondary vibrator func-
tions in a similar manner as that on the primary side, so that
by reversing the alternations applied to the load, a pulsating
D. C. is obtained. After filtering, this is used as plate and
grid supply to all Radiotrons.

(1) Spring and Contact Adjustments Limits.

Proper adjustments of the various contacts are made in
the following order and manner:

1. With 8 and 10, Figure D, firmly held against their
respective stops and with 3 and 5 in contact with 8 and 10
respectively, the air gap between 1, 6 and 2, 7 shall be 0.015"
plus or minus 0.005””. On no particular unit however, shall
the differences between the two air gaps exceed 0.005".

Figure D—Vibrator Contacls

2. Adjust the buzzer screw, 11, Figure D, so that when
the position of the armature is such that 1 and 2 are just
making contact with 6 and 7 respectively, the contact between
4 and 9 shall just be breaking.

(2) Adjustment for the Reduction of Sparking.

If any pair of contacts show excessive sparking, the
following procedure will in general reduce the sparking to a
minimum,

For example, consider the case where excessive sparking
is occurring between 6 and 1. Sparking will be reduced to a
minimum by bending the armature spring on that side
(secondary side) away from 6 and toward 8. (See FigureD.)
If the bend is too small, only a small change will be noted.
However, if an excessive bend is made, the sparking will be
transferred from 6, 1 to 8, 3.

The same method may be applied to any pair of contacts.
Usually only a slight bend will be necessary. Although after
bending, no change in the position of the armature contacts
may be noted, a sufficient change in the initial force require-
ments will have been made to reduce sparking.

(3) Output Voltage.

When connected to a 6 volt primary source, the output
voltage across a 5,000 ohm resistor (connected in place of the
receiver load at the output of the filter), must be 230 volts or
greater.
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